(a)  Factorize ¥=3x-10. 2. The diagram represents the graph of the function

(b)  Solve the equation ¥ =3x-10=0. Fixe x=-plx—q).

Working: Ma
A =3-10
= (x-5)(x12)

...%\\/2 X
_ G
(Y ) )(7{ -1_-2.) =0 Answers:
C e 5) CX +2 > (a)  Write down the values of p and g.
(b) . XS . e 2 (b)  The function has a minimum value at the point C. Find the x-coordinate of C.
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The diagram shows the parabola y = (7 —x)(1 +x). The points 4 and C are the x-intercepts and
the point B is the maximum point.
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Find the coordinates of 4, B and C.
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The quadratic equation 4+ dhx + 9 = Q@s exactly one solution for x.
Find the value of k.
Working:
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The following diagram shows part of the graph of f, where f (x) = ¥-x-2.
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(a)  Find both x-intercepts.
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(b)  Find the x-coordinate of the vertex.
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The diagram shows the graph of the function y = ax” + bx + .
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Complete the table below to show whether each expression is positive, negative or zero.

Expression positive negative Zero
a \/
¢ /
b’ —dac /
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Part of the graph of f(x) = (x = p) (x — g) is shown below.
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The vertex is at C. The graph crosses the y-axis at B.
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(a)  Write down the value of p and of ¢.
(b)  Find the coordinates of C.

(c)  Write down the y-coordinate of B.
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Part of the graph of the function y = d (x wm)z + p is given in the diagram below. . 2 _ . . .
The x-intercepts are (1, 0) and (5, 0). The vertex is V(m, 2). 9. The equation kx“ + 3x + 1 = 0 has exactlv one solution. Find the value of £.
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10.  The diagram shows part of the graph with equation y = x> + px + ¢. The graph cuts the x-axis at
g p

-2 and 3.

Find the value of lﬂ - (X + 2) (x v ) ‘
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11.  The diagram shows part of the graph of y = a (x — 1)*+ k. The graph has its vertex at P, and
passes through the point A with coordinates (1, 0).

(a)  Write down the value of
a
(i) k.

(b)  Calculate the value of a.
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y-‘ﬁ (%+1)+2 -
nse (1,v)

0=a(]+1)+2
9= 4 (?—)L 3

Answers:

(b) &)

\r

(Total 6 marks)

10






